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Define terms (i) Point estimate (i) l'IntervaI estimate

, significance - all in connection with sampling theory.
A die is tossed 120 times with ;he following results:

. Number tumedup : 1 2 3 4 5 6

Frequency :3 25 18 10 22 15

 Test the hypothesis that the die is unbiased (& =0.05).

ek

Time: 3Hours
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Find the Fourier series for f(x), if

-n, -w<x<0
x, O<x<m °

g f(x)=.{

a,

S P U T
| Hence evaluate -1.—2-+"3~2'-+5—2.+..."....- .

" Hence evaluate ;f______xcps.:a—sin;,m%dx .

OR
Show that

' R Al _lx"-'+x"—ldx
ﬁ(MDH) = £ (1+y)mu dy -£ (l ‘*-x)ﬂfl

Evaluate
f_dx
a-x4

(Twrn over)
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Provethat -
_3cosx|
0= J_ [ x-].
Prove that

2n{n+1)

f xP > P, (I)dx = Cn-D2n+D{2n+3)"

OR
Prove that
}é (=)=, ’ sinx,
Prove that

A-2)B/(x) =+ HxB ()~ B, (9]

* Solve

xzpa +yiqi =z2‘

The vibrations of an elastic string is governed by the partial

, , Ol o
differential equation a A The length of the string is

 and the ends are fixed. The initial velocity is zero and the
initial deflection is- U{x,0)=2(sin x+sin3x) .- Find the

deflection U(x,r) of the vibrating string for £>0.
OR

Solve (y-z)p+(z—x)g=x~y where P=%‘{, q=—gyg,

Derive the one-dimensional heat equation in the form

a” =c’ &4 gx',‘ , stating all the assumptions.
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An Insurance company found that only 0.01% of the
population is involved in a certain type of accident each year.

If its 1000 policy holders were randomly selected from the
population, what is the probability that not more than two of
its clients are involved in such an accident next year?

Fitacurve of the form y= ab* to the following:

x 1 2 3 - 4 5 6
y @ 298 426 521 610 68 75
OR

The table given below shows the number of students who
have passed’four tests in an examination. Fit a binomial
distribution to suit the same constants and calculate the
theoretical fréquencies. ‘ :

No. of tests passed 0 1 2 3 4 Total

Frequency  : 4 10 15 9 2 40
Find the coefficient of correlation

x:'1 2 3 4 5 6 7 8 9% 10

y: 10 12 16 28 25 36 41 49 40 50

Two gauge operations are tested for precision in making .
measurements. One operator completes a set of 26 readings
with S.D. of 1.34 and the other does 3.4 readings with
a S.D. 0.98. What is the level of sxgmﬁcance of this
difference?

‘A machine is supposed to produce washers of mean thick-

ness of 0.12cm. A sample of 10 washers was found to have
mean thickness of 0.128 cm and S.D. 0.008. Test whether the
machine is working in proper order at 5% level of significance.
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